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QUESTION 1

A server administrator has been asked to move data between two different vendor storage arrays. The LUN from the
target array has been provisioned and is slightly bigger than the LUN from the source array. The application must
remain online during the entire migration process, including removing the source array LUNs. Which of the following
methods would be MOST appropriate?

A. Use array based replication to make a block based copy of the data.

B. Use an operating system based file copy tool to move the data to a new file system.

C. Restore a copy of the data on to the target LUN from a recent backup.

D. Use an LVM to create a host mirror between the source and target LUNs.

Correct Answer: D

QUESTION 2

Which of the following describes the method of placing lesser used data on less costly storage while reserving more
expensive storage for more frequently used or valuable data?

A. Single Instance Storage
B. Content Addressable Storage
C. Storage Tiers and HSM
D. Object Oriented Storage

Correct Answer: C

QUESTION 3

Which of the following terms refers to the storage infrastructure as a whole?
A. Fabric

B. Connection

C. SAN

D. NAS

Correct Answer: C

QUESTION 4

Assuming that unique keys exist for each tape backup job, which of the following is the BEST advantage of using Tape
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encryption in regards to expiring tapes?

A. Tapes that are expired only need to be reformatted to make the data inaccessible.

B. Tapes that are expired only need the keys destroyed to make the data inaccessible.

C. Tapes that are expired only need to be overwritten without reformatting to make the data inaccessible.
D. Tapes that are expired must be degaussed to make the data inaccessible.

Correct Answer: B

QUESTION 5

In a storage array with four controller nodes and two PDUs per node, how many redundant circuits should be used at a
MINIMUM?

B.4
C.8
D. 16

Correct Answer: A
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